
When the range on a graph is so _____ that the __________ and ______ values are difficult to ________, then a logarithmic model is needed.

e.g.


The Richter Scale
It compares disruptions caused by dynamite blasts, earthquakes or nuclear explosions.  The problem is that a nuclear explosion is a ______ times more ________ than a dynamite blast at a construction site.  The best way to compare these two would be to use a logarithmic scale.
	True Intensity
	Richter Scale Magnitude

	101
	Log10 101 = 

	104.8
	Log10 104.8 = 

	107
	Log10 107 = 


Turn to pg. 136 in the text to study the Richter Scale.
How much more intense is an earthquake that measures 8 on the Richter scale than an earth quake measuring 4.5?
Richter Difference = Event 1 – Event 2

The earthquake is about _______ times more intense than the tornado.

Sound behaves much the same way.  An aircraft engine can be a _______ times louder than rustling leaves.

Turn to pg. 138 in the text to study the Decibel Scale.

Sound Intensity

Sound intensity (L) is measured in _______ (dB), using the formula:
L = 10 log 
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where,


I

is ________ measured in __________

Io

= __________(barely audible sound)

_______ decibels occur when I is ________ Io.  This means that sound is barely audible at this point.
Increasing sound from 10 decibels to 30 decibels will increase the intensity ____ times.

e.g.
How many times louder is a music 




concert of 125 dB than a conversation of 


53 dB?
Sound Difference = Event 1 – Event 2





L = 
The music concert is about ____ million times louder than the conversation.

Another logarithmic scale is the pH scale.  Read about it on page 139 of the textbook.
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